MAT 100, Quiz #6, Summer 2017
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Instructions: Show all work. Use exact answers unless otherwise directed to round.

1. LetA={1,2,3,4,5} B={1,3,5}

sets:
a. AUC
b. BNC
c. B -

C={4,6} U ={numbers from 0 to 10}. Find the following

: $1,2,34,S 6f

g ~ £

£0,2,40,.,%,4, 10}

2. Write an expression for the shaded region.

(B-A)-C

(Anc)n ®

3. Use the information below to fill in the Venn Diagram
A survey was given asking whether they watch movies at home from Netflix, Redbox, or a video
store. Use the results to determine how many people use Redbox.
52 only Use Netflix
62 only use Redbox
24 only use a video store

16 use only a video store and Redbox

48 use only Netflix and Redbox

30 use only a video store and Netflix

10 use a

| three

25 use none of these
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4. Use the following
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table to find the probability of getting the sum of 9 on rolling two 6-sided dice.
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